LEG E N D FLEET SOLUTIONS

NISSAN NV200 — CHEVY CITY EXPRESS WALL LINER KIT

INSTALLATION INSTRUCTIONS

NOTES:

Before commencing, remove all wall liners and “D” Rings already installed in the vehicle.
Consult layout PDF and compare vehicle layout allocated Legend.

Prepare hardware shown below and have them ready for installation.

Wall liners will be installed in the order shown in the instructions.

A drill with a Phillips driver is required to install hardware ( C) #8 Screws, shown below.

S v RWNRE

Reinstall all “D” Rings once the wall liner kit installation is completed.

Hardware

Eg(((@

- U A A

A) Retainer B)#8 Screw Cap C) #8 Screw E) %4” Flat Washer F) M6 Bolt




NISSAN NV200 — CHEVY CITY EXPRESS WALL LINER KIT

537-151-1010

CEILING SILL "B" NISSAN NV200

§37-151-1010

CEILING SILL "A" NISSAN NV200

533-114-2613

GREY REAR UPPER DOOR FANEL PASSENGER SIDE NV 200

533-114-2613

GREY REAR UPPER DOOR PANEL DRIVER SIDE NV 200

538-151-1010

REAR FLOOR SILL NV200

536-151-1010

FLOOR SILL PASSENGER SIDE NV200

536-151-1010

FLOOR SILL DRIVER SIDE NV200

HEX BOLT

HEX BOLT Mé X 20

TEM | PART NUMBER DESCRIPTION QTY.
1 534-114-2613 GREY REAR PANEL DRIVER SIDE NISSAN NV200 1
2 537006541 FLOOR NISSAN NV200 1
3 | 535114-2613 GREY CEILING PANEL NV200 1
4 SCREW CAP SCREW CAP 52
5 SCREW SCREW - PHIL. PAN HD #8X.75 SELF DRILLING 85
& | 534-114-2613 GREY REAR PANEL PASSENGER SIDE NISSAN NV200 1
7 | 5331142613 GREY SLIDING UPPER DOOR PANEL PASSENGER SIDE NV200 1
8 | 533-114-2613 GREY REAR LOWER DOOR PANEL PASSENGER SIDE NV200 1
9 | 5331142613 GREY REAR LOWER DOOR PANEL DRIVER SIDE NV200 1
10 RETAINER RETAINER- BLACK NYLON 50
11 | 533-114-2613 GREY SLIDING UPPER DOOR PANEL DRIVER SIDE NV200
12 | 533-114-2613 | GREY SLIDING LOWER DOOR PANEL DRIVER SIDE NISSAN NV200
13 | 533-114-2613 |GREY SLIDING LOWER DOOR PANEL PASSENGER SIDE NISSAN NV200
14
15
16
17
18
19
20
21

N
N

FLAT WASHER

Flat Washer 1/4"

rpl=m|l=m=m === ===

Note: Model may differ depending if the vehicle purchased came with an OEM partition or not.




Driver Side Wall Liner Installation TAPE “TAB ITEM 11
ITEM 1 P ., FRONT UPPER
REAR DRIVERS = = DRIVERS SIDE
SIDE PANEL ; EI DOOR PANEL

: ] hd
Oa,
. - FRONT
] *
o =
’.
[ o ) 0.’ ° L
- . Q
REAR ) Ii— * |
: a ITEM 12
= * T : FRONT LOWER
il i ———— DRIVERS SIDE
g = DOOR PANEL
1: Install tem 11 & 12, Front Driver Side
Sliding door Panels.
Align notch and edge of panel with the door
handle and the bottom panel cavity edge of
the door, fix the left side of the panel with
%ﬁ tape to keep it in position, make sure the tab
A B, C on that edge is pushed inside the door cavity.
With the tape holding the panel in position,

Installation completed

*Note: Fix the left side of the panel with tape to keep it in position, make sure the tab on that

edge is pushed inside the door cavity. With the tape holding the panel in position, pull the
right side out, like a door, while holding it in position, install hardware (B,C) on the tab.

pull the right side out, like a door, while
holding it in position, install hardware (B,C) in
the holes of the tab on the left side screwing
them into the side of the door. Close the panel
on the door and align it with the door handle
profile.

Install hardware (B,C), in the holes provided,
on the right side of the panel first, working
your way to the bottom of the panel.

2: Install Item 1, Rear Driver Side Panels.
Align wheel well edge of the panel with the
feature on the vehicle and to the Air vent grill;
position the contour of the panel to the
vehicle wall.

Install hardware (A) and (B,C),, in the holes
provided, on the bottom of the panel first,
working your way up the panel to the top.

DO NOT SCREW DOWN THE TOP OF THE
PANEL, THE HOLES ARE FOR THE TOP SILL
HARDWARE.




Back Door Wall Liner Installation

ITEM 16

REAR UPPER
DOOR PASSENGER
SIDE PANEL

ITEM 8

REAR LOWER
DOOR PASSENGER
SIDE PANEL

‘ Installation completed

-

%
o‘__‘—:‘:ﬂ
A
T

1/

ITEM 17

REAR UPPER

DOOR DRIVERS
i SIDE PANEL

| TEM9

REAR LOWER
DOOR DRIVERS
SIDE PANEL

& =

a

B, C

3: Install Item 16 and 17, Rear Upper door panels,
Note: Rear doors must be closed when installing door panels.

Align the panels with the door contour; do not mount tight

against the door seals.

Install hardware (B, C) on the bottom of the panel first, working

your way up the panel to the top.

Install Item 8 and 9, Rear Lower door panels, Install hardware (A)
on the top of the panel first, working your way up the panel to the

bottom.




Passenger Side Wall Liner Installation

TAPE “TAB ITEM 6 REAR PASSENGER
SIDE PANEL
ITEM 7
UPPER . REAR
SLIDING DOOR . 7
PANEL o :
¢
|
FRONT
e - v,
o ‘ o ':, s S QD
0
ITEM 13 Nimmu: . <
LOWER N R
e ]
SLIDING DOOR m . . 8 '
¢ M 9
PANEL ot .n v
T (o] - , ==
7 5 [
> N 2 o 3 _E
D1 ™ —

=
% =

B, C A

*Note: Fix the right side of the panel with tape to keep it in position, make sure the tab on

that edge is pushed inside the door cavity. With the tape holding the panel in position, pull the
right side out, like a door, while holding it in position, install hardware (B,C) on the tab.

Installation completed

4: Install ltem 7 & 13, Front Passenger Side
Sliding door Panels.

Align notch and edge of panel with the door
handle and the bottom panel cavity edge of
the door, fix the right side of the panel with
tape to keep it in position, make sure the tab
on that edge is pushed inside the door cavity.
With the tape holding the panel in position,
pull the right side out, like a door, while
holding it in position, install hardware (B,C) in
the holes of the tab on the right side screwing
them into the side of the door. Close the panel
on the door and align it with the door handle
profile.

Install hardware (B,C), in the holes provided,
on the left side of the panel first, working your
way to the bottom of the panel.

5: Install Item 6, Rear Passenger Side Panels.
Align wheel well edge of the panel with the
feature on the vehicle and to the Air vent grill;
position the contour of the panel to the
vehicle wall.

Install hardware (A) and (B,C),, in the holes
provided, on the bottom of the panel first,
working your way up the panel to the top.

DO NOT SCREW DOWN THE TOP OF THE
PANEL, THE HOLES ARE FOR THE TOP SILL
HARDWARE.




Ceiling Liner Installation
VEHICLE IS UPSIDE DOWN LIGHT OPENINGS
| ! |
i |||r-}‘| , FRONT

REAR

[y

= .\‘_“T-\ i ||I ‘

Al I
N

L

H
| Back Flange

| . o
__u-——" .
s
e

HEADLINER

CEILING PANEL

1: Install Item 3, Ceiling Panel.
Align Ceiling panel with the feature on the vehicle in the front, align the light opening to

the ceiling light.
Align the outside holes at the center of the panel with the threaded holes in the ceiling

cross bows and install hardware (E,F); this will align the panel with the ceiling, leave bolt

loose until the next step is completed.
Bend down the back flange of the panel, push the panel against the ceiling and install
hardware (E,F), in the threaded holes provided, tighten the two bolts then tighten the two

bolts at the center of the panel.
Install hardware (A,B) in the holes provided at the four corners of the panel, push up on

the panel first to make it sit against the ceiling crossbow, then install hardware (A,B).

Installation completed
FRONT
REAR
VEHICLE IS UPSIDE DOWN
FRONT

Back Flange




Ceiling Sills Installation

WALL

ITEM 15
CEILING SILLA

REAR

PASSENGER SIDE FRONT

Ny

H 7 \ CEILING

- = 11 i 2 =]

7: Assemble Item 15 (SHOWN
FOR PASSENGER SIDE.

e Assemble Item 14 with hardware (C) in the holes provided.
FOR DRIVER SIDE

e Install the Sill assemblies on the Driver side as well as on the Passenger side using

ABOVE), with hardware (C) in the holes provided.

hardware (C) in the holes provided on the Sills. Push up on the Sill when installing the
screws on the ceiling panel.




Ceiling Sills Installation Details

ROOF CROSSBOW

CEILING PANEL

ITEM 15
CEILING SILLA

WALL PANEL

PASSENGER SIDE SHOWN




Floor and Floor Sill Installation

Vi ) = "
ITEM 19-20 FLOOR SILLS — ITEM 2 FLOOR ITEM 18
SLIDING DOOR FLOOR SILL — REAR DOOR

8: Install ltems 2 FLOOR and Items 18, 19, 20 FLOOR SILLS.

e |Install floor inside the vehicle.
e Align the floor sills in their proper location with the floor edges and install hardware (C) in the
holes provided.




